ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-852 JELD-WEN Steel Opaque (LK,DBNC - Drawings\TX-4641.44.dwg

POWERED Bvlg
11

ENDURA

DOOR COMPONENTS MADE IN THE USA

Opaque Steel Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS TD ’ D R = 85 2

The Steel Door system described herein complies with the 2018 International
Residential Code {IRC), Sections R301 & Ré09 and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Sectfion 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rafing shown in the design pressure chart, sheet 1 of this

4. drawing.

Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes
Astragal details {Ultimate Multipoint)

Astragal details {Ultimate Humicane)

Door panel details

Horizontal & vertical cross sections

Vertical cross sections

Frame anchoring

NSO S WIN -

74" MAX. O.A. FRAME WIDTH

98" MAX. O.A. FRAME HEIGHT {INSWING)
97.125" MAX. O.A. FRAME HEIGHT {OUTSWING)

| O

1]

Lyndon F. Schrmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Valrico FlL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS | PART OR ASSEMBLY:

LFS
BY

REVISIONS

11/10/211UPDATE TO 2018 IBC/IRC CODE
9/10/18 |[UPDATE FOR NEW TESTING

INSWING

-45.0

+40.0

-45.0

1

N

XX

OUTSWING

-45.0

+35.0

-35.0

L
<
[}
S
=
6

oatE: 10/27/1

ScAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4644

SHEET _ 1 oF _7

© zo16 R.W. BUILDING DONSULTANTS INE.



CON| SINVLINSENDD aNIGTINg "My 9102 @

ZS8LL~d # NOLVMISIORY 40 ILVOI4LNIO - SNOISIATGY i
SHIINIONT TVYNOISSIA0Nd 40 Quvoa SvXal Qz_mo.%ﬁmm:ﬁ%&@.ﬁe Ad divd [ONjw©| | n| < 7_
L616°659°CLE FON SuoUd S41 ONLLS3L M3IN ¥0J 31vadn| 81/01/6] | N & el 3.
S6SEC 714 O9HIPA OFZ XO8 O°d \Sv@v XTBNISSY 80 [8vd ['51] 3000 odl/8l 8102 oL uvadnliz/ot/Li] 2 |N| 5 PRI
“ONI ‘SINVLINSNOD SNIaTiNg S np g 2_
-l z b~
£ZL¥OL# "3'd SYXIL vHNan3 g m gl ¥ w m
‘3'd IPILUYDS ‘4 uopukl :Ag pedodesd sjuewnsoq 119Na0yd ZIG1E1518 &
WOLL09 &
« ~
1" L
" I T
& &—Jlls)
o~ 2 i
.
5
~O
H wHN/U. ™ m u
3 133
8 ih O
8 5
nO. |D | :wﬂ.p \!_
2 % I — N
Q =
q O
; L) 3
o) =
Qo » N =
3 : o
T S 0 5
2 3 2
=) 1 o
el
[
)
k4 N (7]
R Z 89T
i) <€ o]
o~ Q —
3 <
= Q
z Q
g L
Q <
v
oz =
O 2
5 <
> o
<
H (24
R 2 &
— [+
- 3! & Q
;«1 ] £ O P2
M~ ~ o (S8}
5 ! . Q Z
5N g Q 5
Bt > o Q
Q <
© - = £ 3 =
/ 2 S w F %o
= 5 O = >
C 2« >
=8z 8
5 O 2
dOl 2 2 3 =
Q T o
g E g
S &
g z =
M [%¢d o ]
o = o
1y] > X
. O i x
QA Q *
Hm m S
> “ [72]
0z r = —
¥ 28 <
Sa .M m G
/ o O
5 0 M
< Q £ —
S = 8 € %)
S T oc I <C
L P B
¢ ® o E = f—
ll..l\A) 8 ™ > > 5
N ; i i % ; < <
5 R T \& o o
N\ D F B & m..u
£\ I~ - E 5 H
2 2 ..ln.ul- =
m 9 2 M
=2 P >~ %
< 2 8 o LLI
! o 3] — b
2 55 £ <
Wv Qo =) )
fo! < £ N
: 5 : =
o) = 2
[~'<] e o}
: N/
a
- TN ’

Bmp p Lyop-X L\sBuimesd - D\(@a’) enbedo 13315 NIM-Q13( 258-YQ - IAL\sul 0 3daq sexal - a\LNINVINYId eANPUI\SIUBIDNZ



SABAY b
@&:EF— 5“'11 Y X
=0 F a3, é{y ¥ o5 0
‘,:;",;3 Wt e, kR o N
— Ul JIES ¢ U8
.............................................................. ol H 6. .4 £
Fi~ 3 1O o 4 0 uj g ¥ g 7
i (2 ut = o
R ~—0.59 % iwiv ] sE2
¥ B I N5 * g
hu, (zj iT aE é 8o 33
35" Gan, iQt N\|sF fza 32
U ST - 33w
47.6" - FAEVo Sl L\ 2o% Qé
o . NG Y s gn% 2%
(2) #8 X 1-5/8" PFH o | 02 S ek O B
WOOD SCREWS ~ UPPER BOLT SLEEVE = Q 3285 5.
(REINF. POLYMER) ANCHOR SCREW LOCATIONS S g 3550
P & Boid g%
2 § m%
| =
! : SR :__JT ‘__' sz;_—:d > | i g @ g 8
8
— 55 35.5 |
HARDWARE LOCATIONS o
Nz
IO
LE
g |y o2
S g 3
| &l <=
i ol B3
{TRIM COVER REMOVED) L 1.63 § S =
(2) #8 X 1-5/8" PFH lon 2 =
WOOD SCREWS T ] & &
1
- ‘ BOLT RETAINER
: {GF NYLON) "
(&7
. o
A | & g2
1 ) =
o |2
! [ ] — 28 2
3 ! #8 X 3/4' PFH WS IOl Nl &
0,063 |~ SLIDE BOLT ROD N DEADBOLT STRIKE S
(STEEL) PLATE ol
. Y #8 X 3'PFH WS Sl
7 DD
) | LATCH STRIKE NE
BOLT RETAINERS a PLATE S }E
LOWER BOLT SLEEVE S5
REINF. POLYMER LIDE — 1=
H ( ) ASTRAGAL SECTION SLIDE BOLTROD LATCH & DEADBOLT DETAIL -2
ALUMINUM DATE: 10/27/16
i1l ASTRAGAL SAE_ N.T.S.
DWG. BY: JK
ALUMINUM ASTRAGAL ASSEMBLY ck. & LFS
ULTIMATE HURRICANE ASTRAGAL DRAWING NO-
TX—4903

SHEET 3 oF 7

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-852 JELD-WEN Steel Opaque (LK,DB)\C - Drawings\TX-4641.44.dwg

© 2016 R.W. BUILDING CONSULTANTS INC.



INTERIOR 33" 0.81"

-~ 1.75" —=

/_\_—__/’.-—

A1}

{9

e

HINGE STILE {LVL)

EXTERIOR
LOCK BLOCK
(WOOD: 11.88" LONG)

m HORIZONTAL CROSS SECTION

LATCH STILE (LVL)

PO~ 2 b

Lyndon F. Schmidt, P.E.

LYNDON F SCHMIDT ¢

T T itk abide
.
)
. -

TEXAS P.E. #104123

ZAClients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-852 JELD-WEN Steel Opaque (LK,DB\C - Drawings\TX-4641.44.dwg

35.75" MAX.
PANEL WIDTH

95.25" MAX, PANEL HEIGHT

9,

DOOR PANEL
JELD-WEN
Steel (Wood Edge)

DOOR SKIN: 25 GA. STEEL {0.020" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

P

1.75"
TOP RAIL
(L)
%
[}
24 GA. STEEL
DOOR SKIN \
/4
INTERIOR EXTERIOR
/
FOAM CORE
\
\/ &
o~
BOTTOM RAIL —— g% -
(WOOD)

/" 2"\ VERTICAL CROSS SECTION

N

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

ENDURA
DOOR PANEL DETAILS
& GLAZING DETAIL

PRODUCT:

LFS | PART OR ASSEMBLY:

LF.
BY

11/10/21|UPDATE TO 2018 IBC/IRC CODE
9/10/18 [UPDATE FOR NEW TESTING

2
1

Lu
<€
[
S
=
6

DATE: 10/27 /1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4644

SHEET 4 oF _7

REVISIONS

© 2016 R.W. BUILDING CONSULTANTS ING.



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-852 JELD-WEN Steel Opaque (LK,DB)\C - Drawings\TX-4641.44.dwg

EXT. SHEATHING —\ kgl

174" MAX

SHIM SPACE ~—__

0.15"
C'SINK
(TYP.)

-

DOOR PANEL —\

\~ HEAD

ENDURA WEATHERSTRIP
{QEBD/PE 650)

EXTERIOR W INTERIOR

m VERTICAL CROSS SECTION
\y Outswing shown - inswing

also approved

1/4" MAX. 0.15"

SHIM SPACE e e CSINK
EXT. SHEATHING 7 (TYP.)

4

2X FRAMING

(G >=0.42) \

, JAMB

- 92X FRAMING
{ < (G>=042)

s / DRYWALL
L —#10X 2.5 PFH
“1 woob screw

>, #10 X 2.5" PFH WOOD SCREW
—

ENDURA WEATHERSTRIP

(QEBD 650)
EXTERIOR

/4

DRYWALL /

#8 X 2.5" PFH WOOD SCREW —/

#8 X 3/4" PFH SMS$

r\

4" HINGE

/ 1"\ HORIZONTAL CROSS SECTION
\SJ Inswing shown - Outswing also approved

%
\' #8 X 1" PFH SMS

INTERIOR

L DEADBOLT: KWIKSET SIGNATURE SERIES
(980/985)

T LATCH: KWIKSET SIGNATURE SERIES
(991)

CORNER PADS (TYP.)

/

ULTIMATE HURRICANE ASTRAGAL

ULTIMATE MULTIPOINT ASTRAGAL

WEATHERSTRIP /’ DOOR PANEL
o
‘K X'
#8 X 3"PFH WS
#8 X 1" PFH WS

@ HORIZONTAL CROSS SECTION
5

,\,%‘Q:'&;QX}"L{‘Q
R g BN Y
P aeh Q . ,}) l{
SR S Y
5 ﬁj" T
T ?,"}\ Py QO Em J
g PN ;
% LA i & - J
b - s ot} IR
" H ‘: 3 :..7 b o] 2
“),n. P e b
XX R \
QA ioi ) N
¢ 2(6'""--.:2 : Q&
lln‘k'&‘gz P 2
T ™
{
©

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
HORIZONTAL & VERTICAL

PRODUCT:

CROSS SECTIONS

LFS | PART OR ASSEMBLY:

LF
BY

11/10/21]UPDATE TO 2018 IBC/IRC CODE

9/10/18 |[UPDATE FOR NEW TESTING

2
1

REVISIONS

¢
<
a
o
z
6

oATE: 10,/27/1

SCAE  N.T.S.

DWG. BY: JK

cHK. BY:  LFS

DRAWING NO.:
TX—4644

SHEET 5 oF 7

@ 2016 R.W. BUILDING DONSULTANTS IND,



L\ \\ RS u,
INTERIOR EXTERIOR INTERIOR EXTERIOR W K G o
ENDURA P £3 9
|~ DOORPANEL DOOR PANEL WEATHERSTRP — DOOR PANEL s EX 8 us
ENDURA N (QEBD/PE 650)  INTERIOR EXTERIOR NDURA 2t du g8 87
DOOR SWEEP ENDURA INTERIOR | E P wh =5 W
(DBK-R) DOOR SWEEP WEATHERSTRIP, == EXTERIOR g,:i;;. £4 %- E'o 5 3x
(DBK-ZAC) 11)12113 (QEBD/PE 650) o, 88 233 23
LN > H3e pE
U\ 35 J @~ n @é
¢ 580 gw
NOSN0060006 Ny
) o
= - BHE
L 2 3 o 5 g;
e 2 " C
ks . = A -
5 éﬁ
& % & Hhils
8
#10X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR 2
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW 1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW 1/4" X 2-3/4' DeWALT OR ITW CONCRETE SCREW 1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW =
O
/"1 "\ VERTICAL CROSS SECTION /"2 "\ VERTICAL CROSS SECTION /"3 "\ VERTICAL CROSS SECTION ﬂ‘}\ VERTICAL CROSS SECTION 3 &
Inswing Adjustable Threshold Inswing Articulating Threshold Outswing Bump Threshold uiswing Bump Thresho & n
W 9°d \U w/ PlngCap fure ° \6—/ © u 8 > 8
= o X
i = O
N ~d
T
A 5|8 &
= kS o b =
8 g 8 ©
< - & &
l ; | , 456" | | 456" l y | | | e bt [
i 4.56 i I 5 1 F 4.56 i } 456"
1 ) INSWING ADJUSTABLE THRESHOLD 2} INSWING ADJUSTABLE THRESHOLD 3 }INSWING ADJUSTABLE THRESHOLD 4 )}INSWING ADJUSTABLE THRESHOLD 5 )} INSWING ADJUSTABLE THRESHOLD L
TAIL4565 IAI4565FN IAILAA4565 TAIAA4565FN ZAI4565RDS S
MAX. DESIGN PRESSURE = +40/-40 PSF MAX. DESIGN PRESSURE = +40/-40 PSF MAX. DESIGN PRESSURE = +40 PSF 0|2
{ULTIMATE HURRICANE ASTRAGAL) {ULTIMATE HURRICANE ASTRAGAL) N 5
gl 2
} o5 @
9 QE| =l
N A% ~ o
R DR 2l [
| .. | | | | gl
. 4.56 | 456" | 4.5¢" - ; 4.56" ! @ §
s INSWING ARTICULATING THRESHOLD 7 INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD |
IACL4565 IAC4565FN IACLAA4565 IACAA4565FN ZACA565RDS S
MAX. DESIGN PRESSURE = +40/-40 PSF MAX. DESIGN PRESSURE = +40/-40 PSF MAX. DESIGN PRESSURE = +35 PSF AN
(ULTIMATE HURRICANE ASTRAGAL) {ULTIMATE HURRICANE ASTRAGAL} =12
|19
e A CACTEEN =
5 & o DATE: 10/27/16
% 2 < =_ scAE  N.T.S.
1] i i i pwe. B:  JK
- 456" ,[ " l 456" 456 %»l §me§Z NO: -
11) QUISWING THRESHOLD 12) QUISWING THRESHOLD 13) QUISWING THRESHOLD 14) QUISWING THRESHOLD TX—4644
ZOBL4565 70B4545FN ZOB4565RDS FOB4566 e
SHEET _6 OF _7_

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-852 JELD-WEN Steel Opaque (LK, DB)\C - Drawings\TX-4641.44.dwg

© zo1s R.W. BUILDING CONSULTANTS INC,



Z\Clients\Endura PERMANENT\B - Texas Dept of ins\TDI - DR-852 JELD-WEN Steel Opaque (LK DBNC - Drawings\TX-4641.44.dwg

s ﬁz.l" 2X FRAMING (BY OTHERS)
96%
EL. 0. ; "
226 . @ 6 &
al (TYP.) & Astragal Strike Plate G
{ (TYP.) @ Head Jamb if
1] SEE HINGE K
IS ! E =
T T DETAIL 1 - ‘\‘ —T L i L
5 #10X 2.5" PFH DETAIL 1 % \<§&
2 WOOD SCREW % o
& (TYP. @ HEAD E N
AND JAMBS) #10X 2.5" PFH WS
% L ‘ DETAIL 1
;' m { | DETAILT
b\
= - - —& #8X 2-1/2" PFH WS
3 74
N I | * F
B SEE HINGE ., o ||le
H DETAIL 2 #8 X T"PFH WS 41. Hle St —= #8 X 3/4"PFH Ws
N | ] 4" X 4" HINGE
N\
1 \
DETAIL20R 3
/ il ' % HINGE DETAIL 1
o~
B *
o W YT sex 2-1/2" PEH WS
#10 X 2.5" PFH WOOD SCREW //
4" (TYP.) 1/4" X 2-3/4' DeWALT OR ég:._.j
4" (TYP.) - ITW CONCRETE SCREW " 2
|~ 4" (TYP.) #8X1"PFHWS&=je T} o "
HINGE JAMB ¢ (TYP @SiLL) e Hlest fi’: 3:{ ‘;Ng';” WS
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME A':XCHOR’NG \1
CONCRETE {MIN. 3000 PSI)
WOOD (G >=0.42) HINGE DETAIL 2
NOTE: These additional anchors required for D.P. > 40 PSF.
CONCRETE ANCHOR NOTES: " "
1. Concrete anchor locations at the comners may be adjusted to maintain the min. 3/16"X2-3/4 'TWOiONCRETE SCREW ASTRAGAL PIN CAPTURE
edge distance to mortar joinfs. " COMPONENT (UNDER CAP
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to #8 X 3" PFH WOOD SCREW ( )
maintain the min. edge distance to mortar joints, additional concrete anchors ASTRAGAL STRIKE .
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. PLATE @ SILL 1/2" DIA. HOLE (IN CAP)
3. Concrete anchor table: \
Lo\ ) ® 4 © fo o
= A = =
mw ® 3/16" 1 3/ " 3"
DeWALT " " " " “Outswing Inswing Inswin
ULTRACON?| 1/4 1-3/4 1 4 Outswing o

tyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Vairico FL. 335985
Phone No.: 813.658.9187
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

o
=
S
2 1,3
oy | 4
= m <
] 2l
'
<| ®
5 |8 "
8 O
S i
s oo
NNty
][]
Ly
0
o)
o
[©]
2|z
NG
g8 12
D~ %
RF @
(]
N B.
gl x
L2
ol
e [
SIS
R
i
93;2
NS
=l
N"g
DATE: 10/27/16
ScAlE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4644

SHEET 7 oF 7

@ 2016 R.W. BUILDING CONSULTANTS ING.



